n How many more people prefer
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a cat than prefer a rabbit?
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Which statement is not true?

‘A’ The most popular pet is a cat.

‘B The least popular pet is a rabbit.

Favourite pet
Number
cat 0000
dog 00
rabbit Y T
hamster (@@ @ d

Each @ represents

4 people.

4 more people like hamsters than like rabbits.

B 3 people’s favourite pet is a dog.

This table shows the scares out of 100 of 4 children

in their termly spelling tests.

Which child showed the biggest
improvement between Autumn term
and Summer term?

A Otis
B Grace
Evie
B Milo

Autumn |Summer

term term
Otis 73 93
Grace 21 7
Evie 42 3
Milo 32 8l

° Sam asked some children

in Year 4 how they came
to school today.

He put his results in a
bar chart.

How many people came
by scooter?

A 20 € 2
B 2 B 183

How I travel to school

How many more people walked, biked or scootered to school in total
compared to the number of people who came by car?

A 6 8 3

€ 40 B 42

What is the difference between the highest and lowest

temperature in the day?
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